Property of Equality: If log,a = log, b.then a = b. If log:

Condense each side, if necessary.

Use the Property of Equality to solve the equation.

Ifit is a quadratic equation, you will need to factor to solve.

Be sure to go back and check your answer(s) in the expressions.
The expressions cannot be a zero or a negative.
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1. Coroenss ean sae.  necessary.

2 Use tre Progerty of Equaiity t5 sofve the equabon.

3 KFits 2 quadrabc eguaton. you wfl need to factor to solve.

4 Be sure tc go tack and cnedr your answerls; in the expressions.
5. The expressicns cannct be a zero or a2 negative.
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Logarithmic Equations
Algebra Il with Support

Solve each equation.
1. logs(3x = 7) = logs(7x — 21)
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